LESSON 18

THE TRANSITIVE ANIMATE (TA) CONJUNCT;
INDEPENDENT DUBITATIVE! VERB FORMS; THE
CONJUNCT RELATIONAL

DIALOGUE

Pien miak Mani-An

P.

P.

Tanite etit Tshan?

Tshudpamd(ti) a tshidtiitet/
tshatitet 22

Apu udpamak anite uiesh.

Utduia nand uitshietshe
tshemikaitsheniti.

Ehe, tshitdpuendtshe.

Tshekuen uidpamat nete?
Eukuannua an a Tshin ushima?

Maudt, apu udpamimaki.
Mani an.

Auen milpishtudt Tshina
uikanishinua?

Tshan utiissa Udshat ki taniti.

Apu shiikv tshissenimimaki.

Tén tshe ishpish natshi-milpishtudt

Tshan uikdnisha nete Udshat?

Tshi nishumindshtikanniti tshika

ndtshi-miipu nete, nititenimau.

Where is John?
Did you see him leave?

I don't see him anywhere.
He (absent) must be helping his
father cut wood.

Yes, you're probably right.

Who do you see over there?
Is that John's younger sister?

No, I don't see her.
That's Mary.

Who is visiting John's family?

It's John's aunt who lives in
Seven Islands.
I don't know her very well.

When will John be going to
visit his relatives in Seven
Islands?

In two weeks from now, I think
he will go there for a visit.

" A recently-introduced alternative for the term for 'dubitative' in Innu-aimun is

'deductive'.

* Tshiatitet/tshatitet represent changed conjunct forms of tshitiiteu 's /he

leaves'.
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M.  Ek nitshitiiten. Nuf uitshidu
nikau (i) midushut.

VOCABULARY

ek
itenimeu

ka

maushu
milpishtueu
nand

nishumindshtikana
taniti

tdpueu

Udshat
uiesh

uikinisha

uitshieu
utiissa

Lesson 18

Well, I'm leaving. I want to help

my mother pick berries.

(indecl part)
(TA verb)

(preverb: past tense
marker for conj verbs;
relative clause marker)

(Al verb)

(TA verb)

(an/inan demonstrative
pro)

(indecl part)

(3' conj form of Al verb
tau)

(Al verb)

(geographic name)
(indecl part)

(dep an noun)

(TA verb)
(dep an noun)

POINTS OF GRAMMAR

well then, O.K.
s/ he thinks it of
him/her

s/he picks berries

s/he visits him/her

dead, absent (person
or thing)

two weeks

s/he, it is (there),
s/he, it exists

s/he is right, s/he
tells the truth

at Seven Islands

somewhere,
anywhere

his/ her relatives,
family

s/he helps him/her

his/her aunt

I. The TA Conjunct with 3rd Person Objects

The following paradigm represents the conjunct forms for Ist and 2nd
person subjects with 3rd person objects (and for 3rd person subjects with
3' or obviative objects). Asindicated, such forms may appear in negative
main clauses after the negative marker apu. They may also occur in
changed form in question-word questions, or in various subordinate

clauses.
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1 apu udpam  ak I don't see him/her

2 apu udpam  at you (sg) don't see him/her

3 apu udpam  dt s/he doesn’t see him/her

3 apu udpam  aniti[andsi]  s/he (obv) doesn’t see
him/her

Ip apu udpam  atshit we (excl) don’t see him/her

2lp  apu udpam  dkt we (incl) don’t see him/her

2p apu udpam ekt you (pl) don’t see him/her

3p apu udpam  dht3 they don’t see him/her

With 1st sg and 2nd person subjects only, a 3rd plural object is
represented by the addition of -du with a singular subject and -t with a
(second person) plural subject, as follows:

1 apu udpam akdu I don't see them

2 apu udpam atdu you (sg) don't see them

Ip apu udpam atshiht we (excl) don't see them
2lp  apu udpam akut we (incl) don't see them
2p apu udpam ekut you (pl) don't see them

When the subject is we (exclusive - 1p), h is added before the final -¢, to
mark a difference in tone (see Footnote 3 below for a similar tonal
difference in 3p subject forms).

II. Obviative Objects

As seen in Lesson 12, a TA verb in the independent order must be
specially marked when the grammatical object is not the grammatical
person immediately following in the hierarchy of person - that is, when
the object is not 3rd person in the case of a 1st or 2nd person subject, or 3'
(obviative) in the case of a 3rd person subject. In the independent order,
this marking consisted of the morpheme -im, inserted directly after the
TA stem and before the ending.

The same verbal marker occurs in exactly the same circumstances in the
TA conjunct order. In the conjunct, however, the picture is complicated
by the further addition in the case of 1st and 2nd person subjects of a

word-final -7, which causes the final -¢ of the ending to palatalize to tsh:

3 The spelling -kt in the 3p form designates a tonal difference from the 3s form,
which involves a slight change in the pitch of the final syllable.
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3' Object
1 apu udpam  ()m aki I don't see him/her

(e.g., John's father)
2 apu udpam  ()m atf [adsi] you (sg) don’t see him/her
3 apu udpam  ()m dt s/he doesn’t see him/her
Ip apu udpam  (i)m atshiti [odsidsi] we (excl) don’t see him/her
21p apu udpam  ()m dkui we (incl) don’t see him/her
2p apu udpam  (i)ym ekui you (pl) don’t see him/her
3p apu udpam  ()m dht they don’t see him/her

III. The Independent Dubitative

To this point, we have dealt only with verb forms which may be called
'indicative,' in that they occur in statements of fact or in questions
relating to factual information. As was seen in Lesson 9, statements may
be weakened in force by the use of prefixes or preverbs which represent
meanings such as 'futurity' and 'potentiality'. Any verbal stem, however,
may take another set of endings in either independent or conjunct when
the meaning involves probability or a best guess, arrived at by logical
deduction. These endings, referred to as 'dubitative' or 'deductive',
correspond to such English adverbials as 'perhaps', 'maybe', or '‘probably"'
(e.g., 'perhaps s/he is sick, s/he's probably sick').

Paradigms follow for the independent dubitative present tense, of all
four verb types (Al II, T and TA). They may be accompanied by the
particle piit ('maybe/perhaps').

Al (sample verb nipdu 's/he is asleep')

1 ni nip a  ndtshe  perhaps I'm asleep

2 tshi nip 4  ndtshe  perhaps you (sg) are asleep
3 - nip a  tshe perhaps s/he is asleep

3' - nip a  nitsheni perhaps s/he (obv) is asleep
Ip ni nip 4 ndndtshe perhaps we (excl) are asleep
21p tshi nip 4 ndndtshe perhaps we (incl) are asleep
2p tshi nip 4 ndudtshe perhaps you (pl) are asleep
3p - nip d  tshenat  perhaps they are asleep
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II  (sample verb udpdu 'it is white')

3 - udp a  tshe perhaps it is white

3p - udp da  tsheni  perhaps they are white

3' - udp a  nitshe  perhaps it (obv) is white

3'p - udp 4 nitsheni perhaps they (obv) are white

TI (sample verb petam* 's/he hears it')

1 ni pet endtshe perhaps I hear it

2 tshi pet endtshe perhaps you (sg) hear it

3 - pet amiitshe perhaps s/he hears it

3' - pet aminitshen(i) perhaps s/he (obv) hears it
Ip ni pet endndtshe perhaps we (excl) hear it
21p tshi pet endndtshe perhaps we (incl) hear it
2p tshi pet endudtshe perhaps you (pl) hear it

3p - pet amiitshenat ~ perhaps they hear it

TA (sample verb udpameu 's/he sees him/her')

1 n  udpam  dtshe perhaps I see him/her

2 tsh udpam  dtshe perhaps you (sg) see him/her

3 - udpam  etshe perhaps s/he sees him/her

3 - udpam  enitsheni perhaps s/he (obv) sees
him/her/them

Ip n  udpam  Adndndtshe perhaps we (excl) see him/her

21p tsh udpam  dndndtshe perhaps we (incl) see him/her

2p tsh udpam  dudtshe perhaps you (pl) see him/her

3p - udpam  etshenat perhaps they see him/her

If the dubitative endings given above are compared to the present
indicative (independent) endings given in earlier lessons, the two sets
are very similar. The present dubitative is generally formed by the
addition of -dtshe to the first and second person indicative present of Al
and TI verbs; in 3rd person (i.e., non-obviative) forms of Al and II verbs,
as well as throughout the TA paradigm, the dubitative is formed by the
replacement of the final -u of the inflectional ending by the dubitative
(present) marker -tshe.

A dubitative past form (translated 'I might have been...' or 'perhaps I
was...") is formed by replacing the -tshe of the above paradigms by the
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dubitative past marker -kupan. Thus (TA) udpamekupan would mean
'perhaps s/he saw him/her (3')', while nititendkupan could be
translated as 'I might have done it'.

IV. The Conjunct Relational

As in the independent order, Al and TI relational forms are found in the
conjunct. In the independent order, the most common context for a
relational involves an inanimate noun object of a Ist or 2nd person verb
with a 3rd person possessor (as in 'l see Mary's shoe'). In the conjunct, a
relational form occurs, for example, in contexts involving a main clause
with a 3rd person subject and a subordinate clause with a 1st or 2nd
person subject. Thus in the sentence 'John came in when I was asleep',
the bolded subordinate clause would consist of an Al conjunct relational.
The Al relational is formed in a Ist or 2nd person subject verb through
the addition of -u to the Al stem; this is followed by a set of endings that
closely resembles those of the TA rather than the Al conjunct.

Al (Indicative) Relational Conjunct (using the changed form of the verb
nipdu 's/he is asleep')

1 nep a u k* when I was asleep

2 mnep 4 u ot when you (sg) were asleep

lp nep a4 u  tshit when we (excl) were asleep
21p nep 4 u  akv when we (incl) were asleep
2p nep 4 u ekt when you (pl) were asleep

While the TI relational conjunct displays the same set of TA-like
inflectional endings seen in the Al paradigm above, it adds the TI theme
sign -amu in place of the Al -u. In the following examples the 'it' would
normally refer to an object possessed by a third person.

1  uidpat  amu k when I saw it (e.g. John's book)
2 uidpat  amu t when you (sg) saw it

lp  widpat  amu tshit when we (excl) saw it

21p uidpat  amu aku when we (incl) saw it

2p uidpat  amu ek" when you (pl) saw it

* The sequences -duk, -auk and -euk are often nasalized and thus sound as if an
-n has been inserted before the final -k.
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From the following TA independents, make a TA conjunct with

apu:

Example:
Independent
Conjunct

minudteu
kushkateu
iteu
atussemeu
uitshimeu
mamilneu
tshissttutueu
atshimeu
9. mineu
10. atanitkueu
11. tshimipuneu
12. tshissueu

PN RN

mishkueu s/he finds him/her
apu mishkudt s/he doesn't find him/her

s/he likes him/her

s/ he fishes for it (an)

s/he tells (it to) him/her

s/he makes him/her work

s/he lives with, is married to him/her
s/he puts them (an) together
's/he remembers him/her

s/he counts them (an)

s/he gives something to him/her
s/he tells him/her a legend

s/he saws it (an)

s/he cooks it (an)

Put each of the above TA conjuncts into a question beginning with
tshekuen 'who' followed by a changed conjunct form.

Example:

Tshekuen meshkuadt?

Who finds him/her?

Translate into English the following sentences containing relational
forms (in either main or dependent clauses):

AAAAA

AN IS

Tshitiitepan katshi takushinuk.
Takushinipan nishtesh nepduk.
Nudpamd(ti) etusseuk.
Tekushinuk, tshititepan.
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IV. Translate the following into English:

Pindate mik Shishep

P. Tin etin?

Sh. Apu tshissenitaman. Nitdkushindtshe nititeniten.

P.  Apu tshissenimak tshetshi uitshishk natilkunishkueu.

Sh. Natitkunitshudpit nika itiiten pit dishkat.

P.  Nete tdini, nitiiss piit tshipd tshi miipishtudu.

Tshika minuenitam* udpamishki.

Additional Vocabulary

akushu (Al verb) s/he is sick

natikunishkueu, (an noun) nurse

natikunishkuess

tshetshi (changed form of future whether (assumes a
marker ka plus tshi variety of meanings,
'ability, potentiality') depending on the

sentence)

udpamishki (TA conj verb, (if/when) s/he sees
inv form) you

uitshishk (TA conj verb, (whether) s/ he helps
inv form) you

V. Translate the following sentences into English:

AL e

Uidpamaki nipdpudn.
Nitshissenimidu tshe tshitiitet.
Nimashkitenimau etiitak.
Apu tit petamuk tshe nipdut.
Nimashkitenimi(ti) tshatitet.
Nitshissenitamuan tshe tiitak.

Additional Vocabulary

mashkdtenimeu  (TA verb) s/he is surprised at him/her



